FORM FOUR CLUSTER KCSE MODEL 6
BIOLOGY PAPER 1 QUESTIONS

1.Explain why variegated plants accumulate less food than non-variegated plants
under same conditions

2.The table below shows the distribution of stomata on two leaves P and Q. The
surface area of the two leaves has also been tabulated. Study it and answer
questions that follow.

- No of stomata P Q
Upper surface 24 10
Lower surface 0 15
Surface area 25cm? 16cm?

a) State the habitat of:

i) Leaf P (1mark) ...ooooeeeeee e

i) Leaf Q (1mark) .ooooceeeeieieeee e

b)Give two reasons for your answers in (a) above (2marks)
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8.0ther than sugars, name two compounds that are translocated in phloem.

10.State two roles of green plants in a fish aquarium other than providing food for
the fish

/ / First position of bolus

Contraction of muscles

Second position of bolus

12.For each of the following types of cells, state one adaptation that makes it
different from a typical animal cell.
a)cell lining the trachea (1mark)
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15.State the significance of respiratory Quotient to living organisms

17. State one economic importance of each of the following plant excretory products
[ ) =111 T SRR .

D) QUININE. e e e e e e anree
c) Caffeine
18. Distinguish between Guttation and Exudation

Vascular
bundle

20.Name the causative agent of the following human diseases.

a. Pneumonia (1mMark) ..ot nre e anee

(] I (@ g o] 1=T = I (N 1= ) IR

(o) I CloT aloT g g aT=T= T (N 1 =1 o 0 TSRS
21.State the difference between the composition of maternal blood entering the
placenta and maternal blood leaving the placenta (2marks)
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26.In an experiment to investigate an aspect of digestion, two test tubes A and B
were set up as shown in the diagram below.

Set up A Set up B

L~__.4 e U—— ——

e TR R ‘_'-~—Wafer bath

M st b SR N o (DY, maintained at 37°C
Starch + Salwva --';'—- “-—_:"—-—: = Starch + boiled saliva

W - Sl W

o= e B G = &

The tubes were left in the bath for 30 minutes. The content of each test tube was
the tested for starch using iodine solution.
a) What was the aim of the experiment? (1mark)

27.State three factors that contribute to the deceleration phase in the population
curve of an organism
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29. State three pieces of evidence that support the theory of evolution

31.Name the type of response exhibited by

a)Leaves of mimosa pudica when they fold after being touched (1mark)

32.State one structural and one functional difference between motor and sensory
neurons Structural difference
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